
PARAGON CONVENT  SCHOOL 

SECTOR 24 - B   CHANDIGARH 

Exercise 2B 

Q1. Express the result in power notation 

a. ( 
𝟒

 𝟓
 )5  x ( 

𝟒

 𝟓
 )4    = ( 

𝟒

 𝟓
 )5+4   = ( 

𝟒

 𝟓
 )9 

b. ( 
𝟑

 𝟒
 )-6  x ( 

𝟑

 𝟒
 )-4   = ( 

𝟑

 𝟒
 )-6 -4   = ( 

𝟑

 𝟒
 )-10 

c.  ( 
−𝟐

 𝟑
 )7  x  ( 

−𝟐

 𝟑
 )-4  = ( 

−𝟐

 𝟑
 )7+(-4)  = ( 

−𝟐

 𝟑
 )7-4  = ( 

−𝟐

 𝟑
 )3 

d. ( 
𝟕

 𝟖
 )-3   x  ( 

𝟕

 𝟖
 )-4  = ( 

𝟕

 𝟖
 )-3 – 4  = ( 

𝟕

 𝟖
 )-7   

e. ( 
𝟑

 𝟕
 )6    ÷ ( 

𝟑

 𝟕
 )5     =    ( 

𝟑

 𝟕
 )6 - 5     = ( 

𝟑

 𝟕
 )1 

f.  ( 
−𝟑

 𝟒
 )-3   ÷   ( 

−𝟑

 𝟒
 )-3  = ( 

−𝟑

 𝟒
 )-3 – ( - 3)   = ( 

−𝟑

 𝟒
 )-3+3  = ( 

−𝟑

 𝟒
 )0  = 1 

g. ( 
−𝟕

 𝟏𝟎
 )9   ÷  ( 

−𝟕

 𝟏𝟎
 )7 =  ( 

−𝟕

 𝟏𝟎
 )9-7   = ( 

−𝟕

 𝟏𝟎
 )2 

h. ( 
𝟖

 𝟗
 )6   ÷      ( 

𝟖

 𝟗
 )-3  = ( 

𝟖

 𝟗
 )6 – ( - 3 )   = ( 

𝟖

 𝟗
 )6 + 3     = ( 

𝟖

 𝟗
 )9 

i.    [( 
𝟑

 𝟐
 )2 ]7    = ( 

𝟑

 𝟐
 )14 

j.      [( 
𝟓

 𝟔
 )3 ]-2  = ( 

𝟓

 𝟔
 ) - 6    

k.       [( 
𝟕

 𝟏𝟎
 )-2 ]3  = ( 

𝟕

 𝟏𝟎
 )- 6   

l.   [( 
𝟒

 𝟓
 )-3 ] -3  = ( 

𝟒

 𝟓
 ) 

-9 
    

Q2. Simplify 

a.  ( 
𝟑

 𝟖
 )3 x  ( 

𝟒

 𝟗
 )3  =  ( 𝟑

 𝟖
    𝐱  

𝟒

 𝟗
  )3   = ( 

𝟏

 𝟔
  )3  = 

𝟏

 𝟐𝟏𝟔
   

 

b.  ( 
𝟐𝟎

 𝟐𝟕
 )4  x ( 

𝟗

 𝟏𝟎
 )4  x ( 

𝟐

 𝟑
 )4   =   ( 

𝟐𝟎

 𝟐𝟕
   x  

𝟗

 𝟏𝟎
   x  

𝟐

 𝟑
 )4     =  ( 

𝟒

 𝟗
 )4   = 

𝟐𝟓𝟔

 𝟔𝟓𝟔𝟏
  

1 

3 

1 

2 

 

2 

1 3 

1 



 

c.  ( 
−𝟒

 𝟑
 )3    ÷  ( 

𝟖

 𝟗
 )3  =  ( 

−𝟒

 𝟑
     x   

𝟗

 𝟖
 )3  =  ( 

−𝟑

 𝟐
 )3   =  

−𝟐𝟕

 𝟖
  

 

d.  ( 
𝟔

 𝟐𝟓
 )3  x ( 

𝟓

 𝟑
 )3  ÷ ( 

𝟐

 𝟓
 )3   =  ( 

𝟔

 𝟐𝟓
   x   

𝟓

 𝟑
  ÷  

𝟐

 𝟓
 )3    = (

𝟔

 𝟐𝟓
   x   

𝟓

 𝟑
  x  

𝟓

 𝟐
 )3 

                                                                   = (
𝟔

 𝟐𝟓
   x   

𝟐𝟓

 𝟔
 )3    = 1 

e.   ( 
𝟐

 𝟓
 )3   x ( 

𝟐

 𝟓
 )5  ÷  ( 

𝟐

 𝟓
 )7  = ( 

𝟐

 𝟓
 )3   x ( 

𝟐

 𝟓
 )5 -7   = ( 

𝟐

 𝟓
 )3   x ( 

𝟐

 𝟓
 )-3  

                                                                                      = ( 
𝟐

 𝟓
 )3 -3 = ( 

𝟐

 𝟓
 )0 = 1       

f .   ( 
𝟏

 𝟑
 )5 ÷  ( 

𝟏

 𝟑
 )  x  ( 

𝟏

 𝟑
 )-4  =  ( 

𝟏

 𝟑
 )5 -1  x  ( 

𝟏

 𝟑
 )-4  = ( 

𝟏

 𝟑
 )4   x ( 

𝟏

 𝟑
 )-4  =  

                                                                               = ( 
𝟏

 𝟑
 ) 4 - 4  = ( 

𝟏

 𝟑
 )0  = 1  

g.  [( 
−𝟑

 𝟒
 )4   x ( 

−𝟑

 𝟒
 )2  ]   ÷   [ ( 

−𝟑

 𝟒
 )2  ] 3   

     ( 
−𝟑

 𝟒
 )4 + 2   ÷    ( 

−𝟑

 𝟒
 )6    = ( 

−𝟑

 𝟒
 )6   ÷    ( 

−𝟑

 𝟒
 )6   = ( 

−𝟑

 𝟒
 )6  - 6  = ( 

−𝟑

 𝟒
 )0   = 1 

 

Q3. Fill in the blanks          

 a. ( 2-1   x  3-1 )2  x   ( 
−𝟑

 𝟖
 )-1 

      ( 
𝟏

 𝟐
    x  

𝟏

 𝟑
  )2    x   ( 

−𝟖

 𝟑
 ) 

     ( 
𝟏

 𝟔
  )2    x   

−𝟖

 𝟑
       =        

𝟏

 𝟑𝟔
      x   

−𝟖

 𝟑
   =      

−𝟐

 𝟐𝟕
                                             

 

b. ( 4-1   x  3-1 ) ÷  12-1   

    
𝟏

 𝟒
    x  

𝟏

 𝟑
  ÷ 

𝟏

 𝟏𝟐
   = 

𝟏

 𝟏𝟐
  x  

𝟏𝟐

 𝟏
  = 1 

 

1 2 

1 3 

9 

 2 



 

c.  ( 25   ÷  28 ) ÷  2-7  =  25 - 8 ÷  2-7    

                                   = 2-3  ÷  2-7   

                                     = 2-3 - (-7)  = 2-3+7  = 24  = 16 

Q4. Find value of n 

a. ( 
𝟒

 𝟓
  )3   x    ( 

𝟒

 𝟓
  )-6    = ( 

𝟒

 𝟓
  )2n – 1 

    ( 
𝟒

 𝟓
  )3 - 6   = ( 

𝟒

 𝟓
  )2n – 1 

  ( 
𝟒

 𝟓
  )-3   = ( 

𝟒

 𝟓
  )2n – 1 

 Taking powers:  

  2n – 1 = - 3 

  2n = -3 +1 

  2n = -2      

   n =  
−𝟐

 𝟐
  ,  n = -1 

b. n ( 3 -5 ) = 3 

    n x (
𝟏

 𝟑
)5   = 3 

   n =  3  x 35   

      = 3 x 3  x 3 x 3 x 3  x 3 = 729  

 

c. n(-5)4 ÷ n2  = 5 

    n x (-5)4   x  
𝟏

 𝒏 𝐱 𝒏
  = 5 

 
(−𝟓) 𝐱 (−𝟓)𝐱 (−𝟓)  𝐱(−𝟓)  

 𝒏 
  =  5   ( by cross multiply) 

 



           n = 
(−𝟓) 𝐱 (−𝟓)𝐱 (−𝟓)  𝐱(−𝟓)  

 𝟓
  

              n  = 125 

Q5 Find The Reciprocal 

a. ( 
𝟒

 𝟓
  )2n – 1      =  ( 

𝟓

 𝟒
  )2n – 1 

 b. ( 
𝟐

 𝟓
  )-3   x   ( 

𝟓

 𝟒
  )-2 

       ( 
𝟐

 𝟓
  )3   x   ( 

𝟓

 𝟒
  )2 

  
𝟐

 𝟓
     x    

𝟐

 𝟓
    x  

𝟐

 𝟓
  x 

𝟓

 𝟒
   x 

𝟓

 𝟒
    = 

𝟏

 𝟏𝟎
 

 

Q6. Express the following in negative exponents 

 a. ( 
𝟐

 𝟑
  )2   = ( 

𝟑

 𝟐
  )-2 

b. (2 -3)2    =  (2 )-6 

c. 52  x 53    =  52+3  = 55   = ( 
𝟏

 𝟓
 )-5 

d.    [(− 
𝟐

 𝟓
 )-1 ] -2   = (− 

𝟐

 𝟓
 )

2
   = (− 

𝟓

 𝟐
 )-2 

 

Q7. Find the value of n 

 a. 510 ÷ 58 = ( 
𝟏

 𝟓
 )n 

     510-8  = ( 
𝟏

 𝟓
 )n 

      52   = ( 
𝟏

 𝟓
 )n 

    ( 
𝟏

 𝟓
 )-2  = ( 

𝟏

 𝟓
 )n 

       n = - 2 

 

2 2 
1 



 

 

b. ( 
−𝟐

 𝟑
 )4  ÷  ( 

−𝟐

 𝟑
 )3 =  ( 

−𝟑

 𝟐
 )n 

    ( 
−𝟐

 𝟑
 )4-3   =  ( 

−𝟑

 𝟐
 )n 

   ( 
−𝟐

 𝟑
 )1    =  ( 

−𝟑

 𝟐
 )n 

   ( 
−𝟑

 𝟐
 )-1  = ( 

−𝟑

 𝟐
 )n 

      n = -1 

 c. ( -5)4 ÷  ( -5)2 =   5 n 

     ( -5)4-2    = 5 n  

       5 2   = 5 n 

        n= 2 

Q8. Simplify  

a. ( a8   x a-5 )
0   

   (a8-5 )0  = (a3)0   = 1 

 

b. (b2)4   x b0   

     b8  x 1 = b8 

 



 

 

 

 

 


